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Test Group: ANI/ALI
Test Id: UL 1

Test Purpose: Ensure that on receipt of a UI(UL ID=1) message the [UT responds
with UI(ACK UI ID=1) and remains in U10 state

Tester HENA A IUT

SETUP [CR. BC(Speech). Calling NO.. Called NO.1

Active state

[ Voice on B-channel ]

UI[UUUI"UL_ID=1+ANI+Call_Class+User_ID”)]
/¥ 1st Ul=msg, UU=LE., 2nd Ul=component, UI_ID=1,f{]112 bytes */
/*ANI=34244378 > Call_Class=S » User_ID=ISDN CPE ﬁﬁ‘[‘??ﬂﬂ%ﬁ“b\
(left wstified with \O” as filler)*/

UI [UUUI"ULLID=1+ALI ACK )] ~ /* ULLID=1, ALI ACK */
/* Tester Verifv Ul ID=1 and ALI ACK=1 */
BRA : /* Verify : Tester??IUT'“\%TfﬁﬁJﬁ\&gﬁ@iﬂ% */
PRA + STATUS_ENQ [CRID]

/* Tester Verifv Call State = U10 */




Test Group: ANI/ALI
Test Id: UL 2

Test Purpose: Ensure that on receipt of a retransmitted UI(UI_ID=1) message the
[UT responds with UI(ACK UI _ID=1) and remains in U10 state

Tester ST A [UT

SETUP [CR. BC(Speech). Calling NO.. Called NO.1

Active state

[ Voice on B-channel ]

UIIUUUIUL_ID=1+ANI+Call_Class+User_ID)]
/¥ 1st Ul=msg, UU=LE., 2nd Ul=component, UI_ID=1,f{]112 bytes */
/*ANI=34244378 » Call_Class=S » User_ID=ISDN CPE ﬁﬁ‘[‘??ﬂﬂ%ﬁ“b\
(left wstified with \0” as filler)*/

UI [UUUI"ULLID=1+ALI ACK )] ~ /* UL_ID=1, ALI ACK */

UI[UUUI”UL_ID=1+ANI+Call_Class+User_ID”)]
/* Retransmit UL ID=1 message */

UI [UUUI"ULLID=1+ALI ACK )] ~ /* UI_ID=1, ALI ACK */
/* Tester Verify UL_ID=1 and ALL ACK=1 */

BRA © /* Verify TesterSIUT*f{ v A0SR */
PRA : STATIIS ENO ICR1

/* Tester Verify Call State = U10 */




Test Group: ANI/ALI
Test Id: UL 3
Test Purpose: Ensure that on receipt of a UI(UI_ID=2) message the [UT responds

with UI(ACK UI_ID=2), remains 1n U10 state and Displays all the
provided information

Tester HIEA AR IUT

SETUP ICR. BC(Sneech). Calling NO.. Called NO.1

CONN [CRI

Active state

[ Voice on B-channel ]

UI[UUUI"UL_ID=1+ANI+Call_Class+User_ID”)]
/¥ 1st Ul=msg, UU=LE., 2nd Ul=component, UI_ID=1,f{]112 bytes */
[*ANI=34244378 » Call_Class=S » User_ID=ISDN CPE ﬁﬁ‘[‘??ﬂﬂ%ﬁ““
(left justified with \0” as filler)*/

UI [UUUIUL_ID=2+ALI")]
/* After receiving UI_ID=1 ACK, Sending UI_ID=2 =*100 bytes ALI */
* ALI=A= [ b A B S5 = PS5 1R 125 left justified with “\0” as filler)*/

UI [UUUI”UL_ID=2+ALI ACK )] /* Ul _ID=2, ALI ACK */
/* Tester Verify UL ID=2 and ALI ACK=1 */

BRA © /* Verify TesterSIUT*f{ v A0SR */
PRA : STATUS_ENQ [CR]




STATUS [CA=30, 97, CS=U10 (Active State)]

/* Tester Verify Call State = U10 */

/* Operator find all provided information on the screen of IUT */



